SENIOR TWO GEOGRAPHY
TERM II EXAMS - 2019

Time: 2 Hours.

INSTRUCTIONS TO STUDENTS:

- Answer all questions
- Relevant examples will give credit to your explanations

SECTION A

1. The table below shows the area population and land use in
British Columbia.

Area 939,000km
Population 1,900,000
Land use

Agriculture 04%
Other land available for 01%
agriculture

Forests 39%
Rocky mountains and 56%
glaciers.

(a)(i) Calculate the population density of British Columbia.
(b)Draw a pie chart to show land use in British Columbia.
(c) Describe the problems the Canadians face in carrying out
Lumbering.



(d) Explain how the problems in (c) above are being solved.
(e) Name:
(i) Two ports used to export timber.
(ii) Two countries where wood products are exported
2a) Explain the factors that have favoured the development of
livestock farming in Switzerland

b) Outline the problems hindering the development of agriculture
in Switzerland

C) Suggest steps to be taken to overcome the problems in (b)
above.

3. (a) Give any three wheat growing export routes through which
wheat is exported to other countries

(b) Describe the factors that have favoured extensive wheat
farming on the Canadian Prairies.

(c)Explain the contribution of wheat growing to the development
of Canada.

(d) Outline the steps being taken to improve agriculture in
Canada.



